BUS 3060

QUIZ #1

______
1.  Which of the following would not be a good response to the question, “What are the duties of a corporate financial manager?”

a. choosing firm investments

b. choosing the means by which to finance the firm’s investments

c. deciding who will be employed by the firm

d. managing the everyday financial activities of the firm

______
2.  Net working capital is:

a. total assets minus total liabilities

b. the amount that would be left to the owners if all assets were sold and all liabilities were paid off

c. cash plus accounts receivable minus accounts payable

d. current assets less current liabilities

______ 3.  Acme, Inc.’s balance sheet shows $120 of current assets, $300 of fixed assets, $140 of current liabilities, and $200 of long-term debt.  What is Acme’s owners’ equity?

a. ($20)

b. $80

c. $100

d. $420

e. none of the above

______ 4.  Which of the following is a non-cash expense on the income statement?

a. depreciation

b. accounts payable

c. wages paid

d. income taxes paid

e. interest payments

______ 5.  The __________ tax rate is the tax bill divided by the taxable income and the __________ tax rate is the extra tax that would be paid if the firm earned one more dollar of income.

a. average; marginal

b. marginal; average

c. flat; marginal

d. flat; average

e. average; flat

______ 6.  Which of the following is the best means by which to identify operating cash flow (OCF)?

a. EBIT

b. EBIT + depreciation

c. EBIT – depreciation

d. EBIT + depreciation – taxes

e. EBIT + depreciation – taxes – interest

______ 7.  Balance sheet assets are:

a. all relatively liquid

b. listed at current market value

c. listed at market value as of the most recent year

d. listed at historical cost

e. all of the above

______ 8.  If sales are $100, cost of sales is $50, depreciation is $10, interest is $20 and the tax rate is 34%, what is net income?

a. $6.80

b. $13.20

c. $20.00

d. $23.20

e. $40.00

______ 9.  Which of the following is a proper representation of the cash flow equation?

a. cash flow from assets = cash flow to stockholders

b. cash flow from assets = cash flow to creditors + cash flow to stockholders

c. cash flow from assets = cash flow to stockholders + cash flow to the government

d. none of the above

______ 10. Which of the following is not included in calculating total cash flow to the firm?

a. banker’s cash flow

b. operating cash flow

c. increase or change to net working capital

d. net capital spending

______ 11. Liabilities that would normally require payment within 12 months are called:

a. long-term bank loans

b. current liabilities

c. long-term bonds

d. past due

e. accounts receivable

______ 12. Suppose current assets are $175, fixed assets are $375, current liabilities are $140, and long-term debt is $145.  What is the value of net working capital?

a. ($265)

b. $35

c. $190

d. $230

e. $265

______ 13. Which of the following is not correct?

a. assets = liabilities + owners’ equity

b. sources of NWC + uses of NWC = additions to NWC

c. NWC = current assets – current liabilities

d. cash flow from assets = cash flow to creditors + cash flow to stockholders

e. OCF = EBIT + depreciation – taxes

14. Alcatraz Corp. reported the following:

                                                                          
2001

2002

Sales


$1,200

$  900

Cost of sales

     700

    400

Operating expenses
     125

      75

Depreciation

     350

    250

For both years, the tax rate is 35%.

A. Prepare an income statement for both years

B. Determine operating cash flow (OCF) for both years

15. The K & M Corp. had taxable income of $200,000.  What is their total tax bill?  Their average tax rate?  Their marginal tax rate?  (Use the tax rate schedules on page 33 of your text.)

Answer the same questions assuming that the taxable income was $1,000,000 rather than $200,000.

